Discovery 2 Module 5 Exam Picture Descriptions
Which function is a unique responsibility of the DCE
Diagram depicts a network of 2 routers joined over a WAN cloud. Router connects to a CSU/DSU to cloud to CSU/DSU to router.

Refer to the exhibit. From the router console,

Diagram depicts an administrator connected to a router via console cable. The router FA0/1 connects to a switch. The output of a show interfaces fastethernet 0/1 is:

FastEthernet0/1 is up, line protocol is up

Hardware is Lance, address is 00e0 b05a 6396 (bia 00e0 b0fa 6396)

Internet address is 10.108.28.8, subnet mask is 255.255.255.0

MTU 1500 bytes, 

Refer to the exhibit. Which series of commands will correctly
Diagram depicts a small network of 2 routers and 2 workstations. Host A connects to router 1 Fa0/0. Router 1 s0/0/0, DCE, IP address 192168.6.0 connects to router 2, s0/0/0 DTE. Router 2 fa0/0 connects to host B.

Refer to the exhibit. A company always uses the last valid IP address in a subnetwork
Diagram depicts a small network of 2 hosts connected to a switch. A laptop is also connected via the console port. The switch connects to a router. Ip addresses are as follows

Host A: 192.168.5.70/26

Host B: 192.168.5.71/26

Switch X: 192.168.5.68/26

Refer to the exhibit. Users on both SW1 and SW2 report that they are unable

Diagram depicts a network of 2 routers and 2 switches. Switch 1 (SW1) IP address 192.168.1.0/24 connects to router RA on Fa0/0 on IP 192.168.1.1. RA s0/0/0, DCE, IP 192.168.3.5 connects to router RB s0/0/0 IP 192.168.3.6 (network address is 192.168.3.4/30) RB fa0/0 has Ip address 192.168.2.1 on network address 192.168.2.0/24 connects to SW2

Console outputs are below:

RA# show ip interface brief

Interface fastethernet 0/0

ip address ok192.168.1.1 yes

method manual

status up

protocolup

Interface serial 0/0/0

ip address ok 192.168.3.5 yes

method manual

status down

protocol down

RB# s hip interface brief

Interface fastethernet0/0

ip address ok 192.168.2.1 yes

method manual

status up

protocol up

Interface serial 0/0/0

ip address ok 192.168.3.6 yes

method manual

status administratively down

protocol down

Refer to the exhibit. Based on the output of
Exhibit lists the output of a show port-security interface fastethernet 0/1 command

Portsecurity enabled

Port status secure up

Violation mode shutdown

Aging time 0 min

Aging type disabled

Maximum mac addresses 10

Total mac addresses 10

Configured mac addresses 3

Sticky mac addresses 0

Last source address 0000 0000 0000

Security violation count 0

Which of the following identifies the correct items
Picture shows a computer end of a cable(1), the cable itself (2) and the router end (3)

